Inspired by ah! Insight by Martin Gardner and Bob Tappay.

1.  A badminton tournament (single-elimination) has 53 entries.  How many contests must be held?

2.  Put ten coins in three cups so that there is an odd number of coins in each cup.  (Look for an unusual trick.)

3.  Broil three steaks, two at a time, in the shortest possible time.  It takes 20 minutes for each to broil.

4.  An E-mail to a pharmacy stated that a shipment was about to arrive, consisting of ten bottles of pills, one hundred pills per bottle.  The E-mail warned that one bottle of pills -- which was not known -- had 100 milligrams too much drug per pill.  Find a way that the druggist can determine which bottle needs to be returned with only one weighing.

5.  How many pets does Mary Poppins have if she has all fish but two, all gerbils but two, and all iguanas but two?

6.  Ican Handyman wants to cover a floor with tiles 
sample

that look like the sample.  The pattern that he needs 

to cover is shown.  Can this be done?  If so, how?  If 

not, why not?

7.  A gumball machine has only ivory or gold gumballs.

What is the largest number of gumballs that Dad needs to buy so that both my sister and I can have one each of the same color?

Catch Questions Inspired by The Unexpected Hanging 

by Martin Gardner
1.  The weary trucker wants 14 hours of sleep after a tough run.  He goes to bed at 10:00 p.m. and plans to sleep until noon the next day.  He therefore sets his windup alarm clock for 12:00.  How long will he sleep before the alarm rings?

2.  What is the probability that I will throw a larger number than you when each of us roll one die?

3.  What is the opposite of “not over” ?

4.  A 21-cm. tree sprout and another of 28 cm. are supported in part by two wires, each wire running from the top of one to the bottom of the other.   The wires cross at a point that is 12 cm. from the level ground.  How far apart are the sprouts?

	5.  Conversation at the Discount Chain Store:

	

	Customer:
	Clerk:

	“How much will two cost?”
	        “Twenty cents.”

	“How much will thirteen cost?”
	        “Forty cents.”

	“Then I’ll get eight hundred one.”
	  “That will be sixty cents.”

	
	

	What is the customer buying?


6.  Find the area of a triangle with sides 40, 41, and 81.

7.  What word is pronounced badly by nearly everyone in Minnesota and Mississippi?

8.  What angle is made by the diagonals of two adjacent faces of a cube, given that the two diagonals meet at a vertex?


9.  Make one word by rearranging the letters of NEW DOOR.

10.  A child skates five meters straight south from one                         5

edge of a circular skating rink to another edge.  From 

there, she skates 12 meters straight west to another edge.  
       12

What is the radius of the circular rink? 

11.  Divide 100 by one-half and then add 91.  What is the result?

12.  A gas line, a water line, and an electric line make an equilateral triangle at some distance around a new mobile home.  If it costs the same per foot to run new lines from any of the existing lines to the location of the mobile home, where should the home be located so as to minimize the distance and the expense?

13.  If I buy chocolates and eat all but a half-score, how many do I have?

14.  What is the altitude of an isosceles triangle if the bisectors of the base angles are perpendicular to each other?

15.  Which months have 28 days? 

16.  If you have five pills and are to take one every two hours, over what time period will you take pills?

17.  Two USA coins total thirty cents.  One is not a nickel.  What is the other?

18.  A big toad weighs eight ounces plus half of its own weight.  What is its weight?  

19.  How can two boys be born the same day of the same year of the same two parents but not be twins?

Answers to aHa! Insight Inspirations

1.  Fifty-two.  Everyone must lose exactly once except the winner.

2.  Put one coin in one cup and put that cup inside another with two in it.  The third will have seven.

3.  The first steak broils for twenty consecutive minutes.  The second broils for only ten minutes and then is taken off while the third one starts.  When the first is done and the third is still cooking, the second starts again.  After 30 minutes, all are done.

4.  Number the bottles 1-10.  Pull one pill from #1, two pills from #2, etc.  Weigh all 45 pills thus pulled, and divide the excess weight by 100.  The quotient will given the number of the bad bottle.

5.  Three: one of each kind.

6.  It can’t be done.  Imagine the floor to alternate gray and white squares like a checkerboard.  There will be an excess of one of these two colors, and each rectangular tile must cover one of each color.   

7.  Three.

Answers to Catch Question Inspirations

1.  Two hours.

2.  
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3.  Over

4.  There can be any distance.  See the section on harmonic means.  This is the two-pole problem with a small twist.

5.  House or mailbox numbers.

6.  Zero

7.  “badly”.

8.  60(  Given are two sides of an equilateral triangle.  Try to modify this problem to other positions for one of the segments.

9.  ONE WORD

10.  
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.  An inscribed right triangle has a diameter for a hypotenuse.

11.  291.


12.  It doesn’t matter.

13.  Ten.  A score = 20, a non-attribute number like a dozen or a gross.

14.  No such isosceles triangle exists.  The angle bisectors are perpendicular only if the sides are perpendicular to the base.

15.  All months have 28 days.

16.  Eight hours.  (The effects presumably last longer.)

17.  A nickel.

18.  16 ounces = one pound.

19.  They are triplets or some such.
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